SRTHEE  SHEFE RIEEE T A B
1.
(1) 7% (—6) =—4 2
(2) 5a—3b—3 (b—2a) =5a—3b—3b+6a
=11a—6b
(3) BA2HExICTHEZLEEE. TOENL 320 W T2 LEHLD/E V)
x+7<2 (x—3)

(4) 3a+2b=c
2b=—3a-+c
3 1

b=——a+—c
2 2

(5) HplIl x: (x+3) =4:5
5x=4 (x+3)
5x=4x+12
x=12
(6) —WRBA¥ y=—5x+4 TxDOWEIMENIDEE, vy OREIMET

y DHEIN&E B

EALDOE &=
4 T x oBnE

—5 DT 3% (=5) =—15

(7) AAOFMIE36 0ERDT
63+68+58+91+/x=360

Zx=80°
6 6 643 643
(8) V27 +y75 ——=3¢y3+54y3—-2y3=643 = =
V3 V3 J3xy3 3

=243



s

&é 20 9.2 N¥ %s‘i'%&7@ 29 7 1.83

,@,%bﬁTS@WEEKOTw%O:@ﬁ@¢#%%@@£
t%l@ﬁéi?%%%%%ﬁ@&éwotﬁp,E@iﬁmh

Wb nET Bo s &
, r—2. -3 U-%

GISOLOCN e =

v i ¥ T o

(9) HIRAEZRDTL1 1 AN DH6FHDOREE D,

OTT. TR

(10) L
10

(11) S=4rxr2=4x%x 32=36n=

(12) 7 1&EmMA30° IIKDLHZIENTED
T 1 imARUNOMNEICHD & X
ELWolX, f&v



2.
(1) OWHOMEDPESEZxme LT fHf+HE=2 1mieDT

iz 21—x
Gy (s x (21—x) =104
@ 21x—x2=104
x2—21x+104=0
(x—13) (x—8) =0
x=8, 13
IR L v EV DT 8m
(2) IZLDOMEDESE xméT 5,
X CODORIT 2 x
ZHEHEOREL x + 2
EHEBZLOMIT x+4
xX 2x—32=(x+2) (x+4)
2x2—32=x2+6x+8
2x2—-x2-6x—32—-8=0
x2—6x—40=0
(x—10) (x+4) =0
x=10 10X 20=200cm?



Yy y=axr’ g .

B

/ 0 4

(1) RCIZA (=2, 2) &y®IE L T T (2, 2)
(2) B%#y=ax? 1
(2, 2) #RALT2=4a a=—

(3) M#ABIZ A (—2, 2) B (4, 8) #2DT ftﬁ‘éf%=1

v=x+b &< & 8=4+b b=4 XoTy=x+4



(4) CEEB>TOBIZHTREMRONIT y=2x+b BT
(2, 2) ZIRALT
2=4+b

b=—2
Lo T

COEMEAB  y=x+4DRZEERD D

y=2x—2

2x—2=x14

x=6 y=10

—2+6 2+10)

(—2, 2) & (6, 10) OfFEIT 5

(2, 6)

L-oTy=3x

4,
(1) EFEO—E 7 2cm MHFEIE 4cm?

(ACOEX) 2+ 2=4
(ACOEX) 2=8 (ACOES) =7 {8 =24y2
PQOEXIE 242 +2 = e



(2) HOEFEO—NIE6 c mTHFfEIL3 6 cm?

HaROEX) 2+ 2=36
s oEs=y72=642<1. 5x 6=9 642 >1. 4x 6=8. 4
94+2=11cmOHDOFITANDLILINTXD

5.

(1) AABDEACAEIZBWT
B SN =AREY AB=CA -« « « « « - D
FRLY LADB=ZCEA=90° + « + + - @)

ZBAC=90° 2T

/ZCAE+ZBAD=90° « « « - » ®
LZCAE+ZACE=90° +« « « - @
JoTODEIYWLBAD=ZACE « + « = « -« 6

OO®LVHEA=ZARTREILL —2OHANTNETNE LD T
AABD=ACAE




(2) QUARBCEDOHEMEIIER O T
(24+6) x 8+ 2=32

@ KREWVWHENS O/ OWHEEZ DL & X,

16 432nx 16 416n

1 1
— X 62X 12——ngx 22x 4=144xr—
3 3 3 3 3



